INDUSTRIAL FLUID POWER COMPONENTS

AND SYSTEMS H T SER IES
DC Motor Small Power Units

SERIES HT- DC MOTOR

31341 Friendship Drive, Magnolia, TX 77355 ¢ Tel.: 281-259-7768 Fax: 281-259-7249  www.hyvair.com



HT Series
Series HT- DC Motor Small Power Units

Ordering Information

HT 2-12VDC - G.7 - DVP
I )

Gallons

Voltage

Flow

Options

0.8

12

7

1.3

24

9

DV
Dump Valve
(specify voltage &
current type)

2 (GPM@1800)

DVP
Dump Valve
w/ Pendant

D03
Manifold
(specify number of
manifold stations
& type of circuit:
parallel or series)

Rated @ 2500 PSI Max.
Intermittant Duty

Standard Configuration

P 3/8" BSP

“B" SIDE

MOUNTING PAD “D"

A
‘ RELIEF VALVE

T aessp

M10*1.5

Hyd. Schematic
MOUNTING PAD “C"

With Lowering Valve- DV

OPTIONAL LOWERING

(Red Wire is Common)
SPEED CONTROL

Unit supplied with 2 button
pendant w/ 4 meter cable.

“B" SIDE

RELIEF VALVE

MOUNTING PAD “D"

T 3/8" BSP

M10*1.5
MOUNTING PAD “C”

Hyd. Schematic & Electric Schematic

31341 Friendship Drive, Magnolia, TX 77355 « Tel.: 281-259-7768 Fax: 281-259-7249 - www.hyvair.com



Series HT- DC Motor Small Power Units

Dimensional Data

Units: mm (inches)

P Port (3/8” NPT) Check Valve
-
Start Switch
2rar SWieh,
T\
&J
.
Filler Breather
|\ (87 (3.43)+
TANK = P Port (3/8” NPT)
"o}
N
‘ E S
[
> I —
< | j‘} | 0
S ﬁ: 1{ &l
e —= T
- I j o “ J
i ! j‘ L ©
[ =t b )
T
s @ @
N L. - il
- DC Motor
Relief Valve
T Port (3/8” NPT) 155 -
(0.67)
405 (15.94) 186.5 (7.34) ———
0.8 GAL= 205 (8.07)
1.3 GAL= 285 (11.22)
2.0 GAL= 405 (15.94)
(o]
0| \ }— 4} White Line
70 S 1 Red LineI
5 <}y % o }— JL, Black Line
=1 R A o S
I N g §
©l© — g )
[ oy ® Red Line
7 (Connect A)
1 RIGG
R R e Black Line .
I RIS N — (Connect B) E— |
12.5 12.5 : 2
0.49) 049) '\"'e White Liné
. 27| 682 _[31.8 (Connect C)
: 8-M10x1.5 Deep 16mm
(1.06) (2.69) (1.25)
152 (5.98) Unit supplied with 2 button pendant w/ 4 meter cable.
——approx. 180 (7.09) —|

31341 Friendship Drive, Magnolia, TX 77355 « Tel.: 281-259-7768 Fax: 281-259-7249 - www.hyvair.com



Series HT- DC Motor Small Power Units

Optional Manifolds/ Adapter

Units: mm (inches)

- 13373 (5.265)—»

[ 94.23 (3.71) ——»
M8X1.25 x 50mm
Add 50mm/ valve station
| _—W850502-1 End Manifold o
APORT B also use for parallel or series circuits
G4 g For External Drain/ Pressure Ports
s Specify W852502-2Q Manifold
2 Note: T Port Must be Plugged for
J External Drain
MOUNTING SURFACE _ § | ) - .
CETOP 03 Py W850501 Series Circuit Manifold
= Series: W852501
0
APORT 3_ Parallel: W850502-2P1
G1/4” ™ Alignment Hole (ref.)
Y

ADAPTER “A” KIT _» a7 G\wssosoo Adapter
(W85050-R) £ NE

N N NN
USELESS PORT ;— § § .\§ § N
G 3/8 NN NN i
(NO OIL) \\ §\ \E f\ ]
. R S S TOP
@ 2
[a) @
s |
g VIEW FROM MOTOR SIDE E
g “ 5 1/4” Female Adapters
é 9 g supplied on bottom for
= o lzs horizontal units
STANDARD z |39
RELIEF VALVE Z |~ 7
(OR LOW-NOISE | . | § % 1/4” Female Adapters
RELIEF VALVE) = l supplied on side for
vertical units
TPORT 27 7 t=H
G3/8" Y 4 8
2 E Check Valve
H T [t (removed from “A” side)
| || MounTING PADC” | |

12.5]
(0.49)

(%3431 1?36!»; 68.2 (2.69) iﬁ a 12 ‘/i;i:
152 (5.98) :
L BOTTOM

M10xP1 5 - 4Holes

31341 Friendship Drive, Magnolia, TX 77355 « Tel.: 281-259-7768 Fax: 281-259-7249 - www.hyvair.com



